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dt  3  1

t5
dt  3  1

t3
dt 

3 1
4t4
 3 1

2t2
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3 xdx  dt
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5 t

5
3   3
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  2arctanh t   2arctanhex  C
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1
3 3 arcsinh 1

2 x 6  C

1150

 x31
x1 dx   x
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  e 12 xdx

 12 x  u
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1153

 tan3xcot3xsin3x dx

3x  u
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3 
sinu
cosu 

cosu
sinu

sinu du  1
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dx  
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42x21
 C

1157
 asinx cosxdx

sinx  t
cosxdx  dt

  atdt  1
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a  c  2d  2
b  d  1
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1  t2  u
2tdt  du

 2  dz2z  
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1cos x

2

sin x
2

 2 x
2
 cos x

2
 C

1170
 x2

x22
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dx   x

1x2 
dx  2  dx

1x2 
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dx   5
43x2 : 3

: 3 dx   3x
43x2

dx

4  3x2  t
6xdx  dt

 5
3
 dx

4
3 x

2
  3

dt
6

t
 5

3
arcsin 1

2 3 x  1
2 

dt
t

 5
3 3 arcsin 1

2 3 x  t  5
3 3 arcsin 1

2 3 x  4  3x2  C

1174

 dx
ex1

ex  1  t
exdx  dt

  dt
ext  

dt
t1t  

dt
t2t

  dt

t 12
2 14

t  1
2  u

dt  du

  du
u2 14

 1
2 1

4

ln u 12
u 12

 ln u 12
u 12

 ln2u  1  ln2u  1

 ln2t  1
2   1  ln2t 

1
2   1  ln2t  2  ln2t

 ln2ex  1  2  ln2ex  1  C
1175
 dx
ababx2

 1
ab
 dx
1x2

 1
ab arctanx  C

1176
 ex

e2x1
dx

ex  t

exdx  dt

  dt

t21
 ln t  t2  1  ln ex  e2x  1  C

1177

 dx
sinaxcosax   dx

sin2ax
2

 2  dx
sin2ax

2ax  t
2adx  dt

 2 
dt
2a
sin t 

1
a  dt

sin t 
1
a ln 1cos t

sin t  1
a ln 1cos2ax

sin2ax  C

1178

 sin 2tT  0dt   sin 2tT  0dt 
2t
T  0  x
2
T dt  dx

 T
2  sinxdx  

1
2
T
 cosx   T

2 cos
2t
T  0  C

1179
 dx
x4ln2x

lnx  t
dx
x  dt

  xdt
x4t2 

  dt
4t2

 1
4 ln

2t
2t 

1
4 ln

lnx2
2lnx  C

1180

 arccos
x
2

1x2
dx

arccos x2  t


1
2

1 x
2

2
dx   1

4x2 
dx  dt

  tdt   1
2 t
2   1

2 arccos
2 x
2  C

1181

 etanx sec2xdx   etanx 1
cos2x

dx

 tanx  u
 1
cos2x

dx  du

  eudu   eu   etanx  C
1182
 sinxcosx

2sin4x
dx

sin2x  t
2sinxcosxdx  dt

  dt

2 2t2
 1

2 
dt

2t2
 1

2 arcsin
2
2 t 

1
2 arcsin

2
2 sin

2x  C

1183
 dx
sin2xcos2x

  dx
sin22x
4

 4  dx
sin22x

2x  u
2dx  du



 4 
du
2

sin2u
 2  du

sin2u
  2cotu   2cot2x  C

1184
 arcsinxx

1x2
dx   arcsinx

1x2
  x

1x2

arcsinx  u
dx

1x2 
 du

1  x2  t
2xdx  dt

  udu  1
2 

dt
t
 1

2 u
2  t  1

2 arcsin
2x  1  x2  C

1185

 secx tanx
sec2x1

dx  
1
cosx

sinx
cosx

1
cos2x

1
dx  

sinx
cos2x

1cos2x
cos2x

dx  
sinx
cosx

1cos2x
dx   sinx

cosx 1cos2x
dx

1  cos2x  t|2

1  cos2x  t2

2 sinxcosxdx  2tdt

  sinx
cosxt

tdt
sinxcosx   dt

cos2x
  dt

t21
  arctanh t   arctanh 1  cos2x  C

1186
 cos2x
4cos22x

dx

2x  t
2dx  dt

 1
2 

cos t
4cos2t

 1
2 

cos t
51cos2t

 1
2 

cos t
5sin2t

sin t  u
cos tdt  du

 1
2 

du
5u2

 5
10 arctanh

5
5 u 

5
10 arctanh

5
5 sin t 

5
10 arctanh

5
5 sin2x  C

1187*

 dx
1cos2x

  dx
sin2xcos2xcos2x :cos2x

:cos2x  
dx

cos2x

tan2x2
  1

cos2xtan2x2
dx

tanx  t
dx
cos2x

 dt

  dt
t22

 2
2 arctan

t 2
2  2

2 arctan
tanx 2
2  C

1188


ln x x21

x21
dx

ln x  x2  1  t

1
x x21

1  2x
2 x21

dx  dt

1
x x21

x21 x

x21
dx  dt

1
x21

dx  dt

  t dt  2
3 t

3
2  2

3 ln
3
2 x  x2  1  C

1189

 x2chx3  3dx
x3  3  t
3x2dx  dt

 1
3  cosh tdt 

1
3 sinh t 

1
3 sinhx

3  3  C

1190
 3tanhx
cosh2x

dx

tanhx  t
dx

cosh2x
 dt

  3tdt  1
ln3 3

t  1
ln3 3

tanhx  C

1192
 x2x  510dx
2x  5  t
2dx  dt

 1
2  t10dt 

1
22 t

11  1
22 2x  5

11  C

1191a
 dx

x x22

x2  2  t
xdx

x22
 dt

  dt
x22
x

x x22
  dt

x2
  dt

t22
 2

2 arctan
2
2 t

 2
2 arctan

2
2 x2  2  C

 dx

x x22

1
x  t

 dx
x2

 dt



  x2dt

x  1t 
22

 
1
t dt

2t2

t2

  dt

2t2 
  arcsin 2

2 t  arcsin
2
2x  C

1191b
 dx
ex1

x   ln t
dx   dtt

   dtt

eln
1
t 1

 
dt
t

1
t 1

  dt
t 1t 1

  dt
1t   ln1  t   ln1 

1
ex   C

1191c
 x5x2  37dx
5x2  3  t
10xdx  dt

  x5x2  37 dt
10x  1

10  t7dt 
1
80 t

8  1
80 5x

2  38  C

1191d

 xdx
x1

x  1  t
dx

2 x1
 dt

 2  xdt  2 t2  1dt  2
3 t
3  2t  2

3 x  1 3  2 x  1  C

1191e
 cosxdx

1sin2x

t  sinx
dt  cosxdx

  dt

1t2
 arcsinh t  arcsinh sinx  C

1192
 x2x  510dx
2x  5  t x  t5

2

2dx  dt

  t52 t10
dt
2  1

4 t  5t10dt 
1
48 t

12  5
44 t

11  1
48 2x  5

12  5
44 2x  5

11  C

1193
 1x
1 x

dx

x  t
dx
2 x

 dt

  1x
1 x

2 x dt  2  1t21t tdt  2 
tt3
1t dt

t3  t : t  1  t2  t  2  2
t1

t3  t2

t2  t
t2  t
2t
2t  2
2

 2  t2dt   tdt  2  dt  2  dt
t1  2

3 t
3  t2  4t  4 ln1  t

 2
3 x 3  x 2  4 x  4 ln1  x   C

1194
 dx
x 2x1

2x  1  t 2x  1  t2
dx
2x1

 dt x  t21
2

  2x1
x 2x1

dt   dtx   dt
t21
2

 2  dt
t21

  2arctanh t   2arctanh 2x  1  C

1195
 dx

ex1

ex  1  t
exdx
2 ex1

 dt

 
2 ex1
ex

dt

ex1
 2  dtex  2  dt

t21
 2arctan t  2arctan ex  1  C

1196
 ln2xdx
x ln4x   ln2xdx

xln2xln2

ln2x  t
dx
x  t

  txdt
xtln2   tdt

tln2   tln2ln2
tln2 dt

  dt  ln2  dt
tln2  t  ln2 lnt  ln2  ln2x  ln2 lnln2x  ln2  C

1197

 arcsinx2

1x2
dx

arcsinx  t
dx

1x2
 dt

  t2dt  1
3 t
3  1

3 arcsin
3x  C



1198

 e2x

ex1

ex  1  t
exdx
2 ex1

 dt

  e2xt
2 ex1
ex dt  2  t21t

t dt  2 t2  1dt  2
3 t
3  2t 

2
3 ex  1 3  2 ex  1  C

1199
 sin3x

cosx dx

cosx  t

 sinx
2 cosx dx  dt

 2  sin2xdt  2 1  cos2xdt  2  1  t4 dt  2
5 t
5  2t 

2
5 cosx 5  2 cosx  C

1200*
 dx

x 1x2

1  x2  t|2

1  x2  t2

xdx  tdt

 
tdt
x
xt   1

x2
dt   1

t21
dt   arctanh t   arctanh 1  x2  C

1201
 x2

1x2
dx

x  cos t
dx   sin tdt

  cos2t
1cos2t

sin tdt   cos2t sin tsin t dt   cos2tdt   1cos2t2   1
2 t 

1
4 sin2t

  1
2 arccosx 

1
4 sin2arccosx  C

1202
 x3

2x2
dx

2  x2  cos t
2xdx   sin tdt

  x3

cos t
sin tdt
2x   x2

cos t
sin tdt
2   2cos t

cos t
sin tdt
2   2sin tcos t sin t

2 cos t
dt

  sin t
cos t

dt  1
2  cos t sin tdt

cos t  u
 sin tdt  du

  du
u
 1

2  u du   2 u  1
3 u

3
2   2 cos t  1

3 cos t
3
2

  2 2  x2  1
3 2  x

2
3
2  C

1203

 x2a2
x dx

x2  a2  sin2t
xdx  sin tcos tdt

  sin tx sin tcos tdt
x   sin2tcos tdt

x2
  sin2tcos tdt

sin2ta2

sin t  z
cos tdt  dz

  z2dz
z2a2

  dz  a2  dz
z2a2

 z  aarctan z
a  sin t  aarctan sin t

a

 x2  a2  aarctan x2a2
a  C

1204*
 dx

x x21


x  1
t

dx   dt
t2

 
 dt
t2

1
t

1
t2
1

 
dt

t2

1
t

1t2

t2

 
dt
t

1t2

t2

 
dt
t

1
t 1t2

  dt

1t2
  arcsin t 

 arcsin 1
x  C

1205

 x21
x dx

x  sinh t
dx  cosh t

  sinh2t1
sinh t cosh t   sinh2t1

sinh t cosh t   cosh2tsinh t   sinh2t1sinh t   sinh t   dt
sinh t

 cosh t  2arctanhet  cosh arcsinhx  2arctanhearcsinhx  C

1206*
 dx

x2 4x2

x  2sin t
dx  2cos tdt

 2cos tdt
2sin t2 42sin t2

  2cos t
4sin2t 44sin2t

dt   2cos t
4sin2t 44sin2t

dt   2cos t
8sin2t 1sin2t

dt   2cos t
8sin2t cos2t

  2cos t
8sin2tcos t

dt  1
4 

dt
sin2t

  1
4 tan t  

1
4 tanarcsin

x
2   C



 dx

x2 4x2

x  1
t

dx   dt
t2


 dt
t2

1
t2

4 1
t2

  dt

4 1
t2

  dt
1
t 4t21

  12 
t

t2 14
dt   12

1
2 4t2  1 

 1
4 4t2  1

  1
4 4 1x 

2  1   1
4x 4  x2  C

1207

 1  x2 dx   1x2

1x2
dx

 1x2

1x2
 ax  b 1  x2   c

1x2
| 

1x2

1x2
 ax  b 1  x2


 c

1x2

1x2

1x2
 a 1  x2  2xaxb

2 1x2
 c

1x2
| 1  x2

1  x2  a1  x2  xax  b  c
1  x2  a  2ax2  xb  c
1  x2  x22a  xb  a  c
a  1

2 ,b  0
a  c  1. . . .c  1

2

I  1
2 x 1  x

2  1
2 

dx

1x2
 1

2 x 1  x
2  1

2 arcsinx  C

1208
 dx

x1x

x  sin2t
dx  2sin tcos tdt

  2sin tcos t
sin2t1sin2t

dt  2  sin tcos t
sin t 1sin2t

dt  2  sin tcos t
sin t cos2t

dt  2  sin tcos tsin tcos t dt  2  dt  2t 

2arcsin x  C

1209

 a2  x2 dx

x  a sinh t
dx  acosh t

  a2  a2 sinh2t acosh tdt  a2  1  sinh2t cosh tdt

 a2  cosh2t cosh tdt  a2  cosh2tdt  a2  cosh2t12 dt  a2

2  cosh2tdt 
a2

2  dt
 1

4 a
2 sinh2t  1

2 a
2t  1

4 a
2 sinh2arcsinh x

a   1
2 a

2 arcsinh x
a

 1
2 x x2  a2  1

2 a
2 arcsinh x

a  C

1210
 x2

x2a2
dx

x  acosh t
dx  a sinh tdt

  a2 cosh2t
a2 cosh2ta2

dt   a2 cosh2t
a cosh2t1

dt  a  cosh2t
cosh2t1

dt

 a  1sinh2tsinh t dt  a 
dt
sinh t  a  sinh tdt  acosh t  a ln tanh

t
2

 acosharccosh x
a   a ln tanh

arccosh x
a 

2  x  a lntanh 12 arccosh
x
a   C

1211
 lnxdx
dx  dv lnx  u
x  v dx

x  du

 x lnx   x dxx  x lnx  x  C

1212

 arctanxdx
arctanx  u dx  dv
dx
1x2

 du x  v

 xarctanx   x
1x2

dx

1  x2  t
2xdx  dt

 xarctanx  
dt
2
t  xarctanx  1

2 ln t  xarctanx 
1
2 ln1  x

2  C

1213
 arcsinxdx
arcsinx  u dx  dv
dx

1x2
 du x  v

 xarcsinx   x

1x2
dx

1  x2  t
2xdx  dt

 xarcsinx  
dt
2

t
 xarcsinx  1

2 
dt
t
 xarcsinx  t  xarcsinx  1  x2  C

1214

 x sinxdx



x  u sinxdx  dv
dx  du cosx  v

 xcosx  cosxdx  xcosx   cosxdx   xcosx  sinx  C
1215
 xcos3xdx

3x  t
3dx  dt

 1
9  tcos tdt
t  u cos tdt  dv
dt  du sin t  v

 1
9 t sin t   sin tdt

 1
9 t sin t 

1
9 cos t 

1
9 3x sin3x 

1
9 cos3x

 1
3 x sin3x 

1
9 cos3x  C

1216
 x
ex dx

x  u exdx  dv

dx  du ex  v

 xex  exdx   xex  ex  C
1217
 x2xdx

x  u 2xdx  dv
dx  du  1

ln2 2
x  v

  1
ln2 x2

x   1
ln2 2

xdx   1
ln2 x2

x  1
ln2  2xdx  

1
ln2 x2

x  1
ln22
2x  C

1218  

 x2e3xdx
3x  t
3dx  dt

  t29 et
dt
3  1

27  t2etdt
etdt  dv t2  u

et  v 2tdt  du

I  1
27 t2et  2  ettdt

I1   ettdt

t  u etdt  dv

dt  du et  v

 tet   etdt  tet  et

I  1
27 t

2et  2I1  1
27 t

2et  2tet  et  1
27 t

2et  2
27 te

t  2
27 e

t

 1
27 3x

2e3x  2
27 3xe

3x  2
27 e

3x  1
3 x

2e3x  2
9 xe

3x  2
27 e

3x  C

1219 

x2  2x  5exdx   x2exdx  2  xexdx  5  exdx
x2  u exdx  dv

2xdx  du ex  v

I1  exx2  ex2xdx  exx2  2  xexdx
x  u exdx  dv

dx  du ex  v

I12  exx  exdx  exx   exdx  exx  ex

I1  exx2  2exx  ex   exx2  2exx  2ex

I2  2  xexdx  2exx  ex   2exx  2ex

I3  5ex
I  I1  I2  I3  exx2  2exx  2ex  2exx  2ex  5ex
I   exx2  5ex  C

1220*
 x3e x3

 x3  t

 dx3  dt

  27t3et3dt  81  t3etdt  81I1
I1   t3etdt
etdt  dv t3  u

et  v 3t2dt  du

 t3et  3  ett2dt  t3et  3I2
I2   ett2dt
etdt  dv t2  u

et  v 2tdt  du

I2  t2et  2  ettdt  t2et  2I3
I3   ettdt
etdt  dv t  u

et  v dt  du

 tet   etdt  tet  et



I2  t2et  2I3  t2et  2tet  et  t2et  2tet  2et
I1  t3et  3I2  t3et  3t2et  2tet  2et  t3et  3t2et  6tet  6et

I  81I1  81t3et  3t2et  6tet  6et
 81  x3

3
e 

x
3  243  x3

2
e 

x
3  486  x3 e 

x
3  486e  x3

  3x3e 13 x  27x2e 13 x  162xe 13 x  486e 13 x  C
1221
 x sinxcosxdx  1

2  x sin2xdx
2x  t
2dx  dt

 1
2 

t
2 sin t

dt
2  1

8  t sin tdt
u  t dv  sin tdt
du  dt v  cos t

 1
8 tcos t  cos tdt  1

8 tcos t   cos tdt   1
8 tcos t 

1
8 sin t

  1
8 2xcos2x 

1
8 sin2x  

1
4 xcos2x 

1
8 sin2x  C

1222*
x2  5x  6cos2xdx

2x  t
2dx  dt

  t2

4  5
2 t  6 cos t dt2  1

8  t2 cos tdt 
5
4  tcos tdt  3  cos tdt

 3sin t  1
8  t2 cos tdt 

5
4  tcos tdt

t2  u cos tdt  dv
2tdt  du sin t  v

t  u cos tdt  dv
dt  du sin t  v

Ia  t2 sin t  2  t sin tdt
Ib  t sin t   sin tdt  t sin t  cos t
Iaa   t sin tdt

t  u sin tdt  dv
dt  du cos t  v

 tcos t  cos tdt   tcos t  sin t
Ia  t2 sin t  2tcos t  sin t  t2 sin t  2tcos t  2sin t
I  3sin t  1

8 Ia 
5
4 Ib  3sin t 

1
8 t

2 sin t  2tcos t  2sin t  5
4 t sin t  cos t 

11
4 sin t 

1
8 t
2 sin t  1

4 tcos t 
5
4 t sin t 

5
4 cos t

 11
4 sin2x 

1
8 2x

2 sin2x  1
4 2xcos2x 

5
4 2x sin2x 

5
4 cos2x

 11
4 sin2x 

1
2 x

2 sin2x  1
2 xcos2x 

5
2 x sin2x 

5
4 cos2x  C

1223
 x2 lnxdx

lnx  u x2dx  dv
dx
x  du x3

3  v

 x3

3 lnx  
x3

3
dx
x  x3

3 lnx 
1
3  x2dx 

1
3 x

3 lnx  1
9 x

3  C

1224
 ln2xdx

ln2x  u dx  dv
2 lnx
x dx  du x  v

 x ln2x   x 2 lnxx dx  x ln2x  2  lnxdx
I1   lnxdx

lnx  u dx  dv
dx
x  du x  v

I1  x lnx   x dxx  x lnx  x
I  x ln2x  2x lnx  x  x ln2x  2x lnx  2x  C

1225

 lnx
x3
dx

lnx  u x3dx  dv
dx
x  du x2

2  v

 lnx x22  
x2

2
dx
x   12

lnx
x2

 1
2 

dx
x3

  1
2
lnx
x2
 1

4x2
 C

1226

 lnx
x
dx

lnx  u dx
x
 dv

dx
x  du 2 x  v

 2 x lnx  2  x dx
x  2 x lnx  2  dx

x
 2 x lnx  4 x  C

1227

 xarctanxdx
arctanx  u xdx  dv
dx
1x2

 du x2

2  v

 x2

2 arctanx  
x2

2
dx
1x2

 x2

2 arctanx 
1
2 

x2

1x2
dx  x2

2 arctanx 
1
2 

x211
1x2

dx

 x2

2 arctanx 
1
2  dx 

1
2 

dx
1x2

 1
2 x

2 arctanx  1
2 x 

1
2 arctanx  C

1228
 xarcsinxdx



xdx  dv arcsinx  u
1
2 x

2  v dx

1x2
 du

 1
2 x

2 arcsinx   12 x2
dx

1x2

 1
2 x

2 arcsinx  1
2 

1x21
1x2

dx  1
2 x

2 arcsinx  1
2  1  x2 dx  1

2 
dx

1x2

 1
2 x

2 arcsinx  1
4 x 1  x2  1

4 arcsinx  C

1229

 ln x  1  x2 dx

dx  dv ln x  1  x2  u

x  v dx

1x2
 du

 x ln x  1  x2   x dx

1x2
 x ln x  1  x2   x

1x2
dx

 x ln x  1  x2   x

1x2
dx

1  x2  t
2xdx  dt

 x ln x  1  x2  
dt
2

t

 x ln x  1  x2  t  x ln x  1  x2  1  x2  C

1230
 xdx
sin2x

x  u dx
sin2x

 dv

dx  du cotx  v

 xcotx  cotxdx
 xcotx   cotxdx   xcotx  lnsinx  C

1231

I   xcosx
sin2x

cosx
sin2x

dx  dv x  u

 1
sinx  v dx  du

I1   cosxsin2x

sinx  t
cosxdx  dt

  dt
t2
  1

t   1
sinx

I  x 1
sinx   1

sinx dx  
x
sinx   dx

sinx   x
sinx  ln tan

x
2  C

1232

 ex sinxdx
exdx  dv sinx  u
ex  v cosxdx  du

I  ex sinx   ex cosxdx
I1   ex cosxdx
exdx  dv cosx  u
ex  v  sinxdx  du

 ex cosx   ex  sinxdx
I1  ex cosx   ex sinxdx
I  ex sinx  ex cosx   ex sinxdx  ex sinx  ex cosx  I
2I  ex sinx  ex cosx
I  ex sinxex cosx

2  C
 ex sinxdx

ex  u sinxdx  dv
exdx  du cosx  v

 ex cosx  cosxexdx
 ex cosx   cosxexdx

ex  u cosxdx  dv
exdx  du sinx  v

I  ex cosx  ex sinx   sinxexdx
I  ex cosx  ex sinx  I
2I  ex cosx  ex sinx
I  ex cosxex sinx

2  C

1233
 3x cosxdx
3xdx  dv cosx  u
3x
ln3  v  sinx  du

 3x
ln3 cosx   sinx

3x
ln3 dx

I  3x
ln3 cosx 

1
ln3  3x sinxdx

3xdx  dv sinx  u
3x
ln3  v cosx  du

I  3x
ln3 cosx 

1
ln3 sinx 3x

ln3  
3x
ln3 cosx  3x

ln3 cosx 
3x
ln23

sinx  1
ln23
 3x cosx

I  3x
ln3 cosx 

3x
ln23

sinx  1
ln23
I

I 1  1
ln23

 3x
ln3 cosx 

3x
ln23

sinx



I 
3x
ln3 cosx

3x

ln23
sinx

ln231
ln23


3x
ln3 cosx

3x

ln23
sinx

ln231
ln23  3x cosx ln3sinx

ln231
 C

1234
 eax sinbxdx

bx  t

bdx  dt

  e at
b sin t dt

b
 1

b
 e at

b sin tdt

e
at
b  u sin tdt  dv

a
b
ea

t
b dt  du cos t  v

 1
b
e

at
b cos t  a

b
 ea tb cos tdt

e
at
b  u cos tdt  dv

a
b
ea

t
b dt  du sin t  v

I   1
b
e
at
b cos t  a

b2
e
at
b sin t  a 1

b
 ea tb sin tdt

I   1
b
e
at
b cos t  a

b2
e
at
b sin t  aI

I   1
b
e
at
b cos t  a

b2
e
at
b sin t  a2

b2
I

I 1  a2

b2
  1

b
e
at
b cos t  a

b2
e
at
b sin t

I 
 1
b
e
at
b cos t a

b2
e
at
b sin t

a2b2

b2

 ea
t
b bcos ta sin t

a2b2
 ea

bx
b
bcosbxa sinbx

a2b2

I  bcosbxa sinbx
a2b2

eax  C

1235
 sinlnxdx

lnx  t
dx
x  dt

  x sin tdt   et sin tdt
etdt  dv sin t  u
et  v cos tdt  du

I  et sin t   et cos tdt
I1   et cos tdt
etdt  dv cos t  u
et  v  sin tdt  du

I1  et cos t   et  sin tdt  et cos t   et sin tdt
I  et sin t  et cos t   et sin tdt  et sin t  et cos t  I
2I  et sin t  et cos t
I  et sin tet cos t

2  elnx sin lnxelnx cos lnx
2  1

2 x sinlnx 
1
2 xcoslnx  C

1236
 x3ex2dx

x2  t

2xdx  dt

  x3et dt2x  1
2  x2etdt 

1
2  tetdt

t  u etdt  dv

dt  du et  v

 1
2 tet   etdt  1

2 te
t  1

2 e
t

 1
2 x

2ex2   1
2 e

x2    1
2 x

2ex
2  1

2 e
x2  C

1237
 e x dx

x  t|2

x  t2

dx  2tdt

 2  ettdt
t  u etdt  dv

dt  du et  v

 2 tet   etdt  2tet  2et  2 x e x  2e x  C

1238
x2  2x  3 lnxdx

x2  2x  3dx  dv lnx  u
x3

3  x
2  3x  v dx

x  du

 x3

3  x
2  3x lnx   x3

3  x
2  3x  dxx   x3

3  x
2  3x lnx   x2

3  x  3 dx

 x3

3  x
2  3x lnx  x3

9  x2

2  3x  C

1239
 x ln 1x

1x dx

ln 1x
1x  u dv  xdx

2
x21

dx  du v  x2

2

 x2

2 ln
1x
1x  

x2

2
2
x21

 x2

2 ln
1x
1x  

x2

x21
 x2

2 ln
1x
1x  

x211
x21

 x2

2 ln
1x
1x   dx  

dx
x21

 1
2 x

2 ln 1x
1x  x  arctanhx  C

1240
 ln2x

x2
dx



ln2x  u dv  dx
x2

2 lnx
x dx  du v   1x

  1x ln2x   1x  2 lnxx dx
  1x ln2x  2  lnxx2 dx

lnx  u dv  dx
x2

dx
x  du v   1x

  1x ln2x  2  1x lnx   1x  dxx
  1x ln2x  2  1x lnx   dxx2   1

x ln2x  2
x lnx  2

x  C

1241
 lnlnxx dx

lnlnx  u dx
x  dv

dx
x lnx  du lnx  v

 lnx lnlnx   lnx dx
x lnx  lnx lnlnx   dxx  lnx lnlnx  lnx  C

1242

 x2 arctan3xdx
3x  t
3dx  dt

  t29 arctan t
dt
3  1

27  t2 arctan tdt
arctan t  u t2dt  dv
dt
1t2

 du t3

3  v

 1
27

t3

3 arctan t  
t3

3
dt
1t2

 1
27

t3

3 arctan t 
1
3 

t3

1t2
dt  1

81 t3 arctan t   t3

1t2
dt

1  t2  z
2tdt  dz

 1
81 t3 arctan t   t3z dz

2t

 1
81 t3 arctan t  1

2 
t2
z dz  1

81 t3 arctan t  1
2 

z1
z dz

 1
81 t3 arctan t  1

2  dz 
1
2 

dz
z  1

81 t
3 arctan t  1

2 z 
1
2 ln z

 1
81 t

3 arctan t  1
2 1  t

2  1
2 ln1  t

2
 1

81 3x3 arctan3x  1
2 1  3x2  1

2 ln 1  3x
2

 1
81 27x

3 arctan3x  1
2 

9
2 x

2  1
2 ln1  9x

2
 1

3 x
3 arctan3x  1

162 
1
18 x

2  1
162 ln1  9x

2  C

1243
 xarctan2xdx

arctan2x  u xdx  dv
2arctanx
1x2

dx  du x2

2  v

 x2

2 arctan
2x   x22

2arctanx
1x2

 x2

2 arctan
2x   x2 arctanx

1x2

arctanx  u x2

1x2
dx  dv

dx
1x2

 du  x211
1x2

dx  x  arctanx  v

 x2

2 arctan
2x  x  arctanxarctanx  x  arctanx dx

1x2

 x2

2 arctan
2x  xarctanx  arctan2x   x

1x2
dx   arctanx

1x2
dx

 x2

2 arctan
2x  xarctanx  arctan2x  I1  I2

I1   x
1x2

dx

1  x2  t
2xdx  dt

 1
2 

dt
t  1

2 ln t 
1
2 ln1  x

2

I2   arctanx1x2
dx

arctanx  t
dx
1x2

 dt

  tdt  1
2 t
2  1

2 arctan
2x

 x2

2 arctan
2x  xarctanx  arctan2x  1

2 ln1  x
2  1

2 arctan
2x

 1
2 x

2 arctan2x  xarctanx  1
2 arctan

2x  1
2 ln1  x

2  C

1244
I  arcsinx2dx 

dv  dx arcsin2x  u
v  x 2 arcsinx

1x2 
dx  du

I  xarcsin2x   x2 arcsinx
1x2 

dx

Iv   x arcsinx
1x2 

arcsinx  u x

1x2 
dx  dv

1
1x2

dx  du  1  x2  v

Iv  uv   vdu   1  x2 arcsinx   1  x2 1
1x2

dx   1  x2 arcsinx  x

Iv   x

1x2 

1  x2  t
2xdx  dt



  12
dt
t
  12  t

 12 dt   12  2t
1
2   t   1  x2

I  xarcsin2x  2 1  x2 arcsinx  x  xarcsin2x  2 1  x2 arcsinx  2x  C
1245
 arcsinx

x2
dx

arcsinx  u dx
x2

 dv
dx

1x2
 du  1x  v

1  x2  t

1  x2  t2

xdx  tdt

  1x arcsinx   1x dx

1x2
  1x arcsinx   dx

x 1x2

I1   
tdt
x
xt  

dt
x
x   dt

x2
  dt

1t2 
  arctanh t   arctanh 1  x2

I   1x arcsinx  I1   1
x arcsinx  arctanh 1  x2  C

1246

 arcsin x

1x
dx

x  t

x  t2

dx  2tdt

I  2  tarcsin t
1t2

dt

arcsin t
1t2

dt  dv t  u

1
2 arcsin

2t  v dt  du

I  2 t 12 arcsin
2t   12 arcsin

2tdt  tarcsin2t   arcsin2tdt
I1   arcsin2tdt

arcsin2t  u dt  dv
2arcsin t
1t2

dt  du t  v

 tarcsin2t  2  tarcsin t
1t2

dt

arcsin t  u tdt

1t2
 dv

dt

1t2
 du v   1  t2

I2   1  t2 arcsin t   1  t2 dt

1t2
 arcsin t 1  t2   dt

I2   arcsin t 1  t2  t
I1  tarcsin2t  2 arcsin t 1  t2  t  tarcsin2t  2arcsin t 1  t2  2t

I  tarcsin2t  I1  tarcsin2t  tarcsin2t  2arcsin t 1  t2  2t

I   2arcsin t 1  t2  2t   2arcsin x  1   x 2  2 x

I   2 1  x arcsin x  2 x  C

1247
 x tan22xdx

2x  t
2dx  dt

 1
4  t tan2tdt
tan2t  dv u  t

tan t  t  v du  dt

I  1
4 ttan t  t  tan t  tdt  1

4 t tan t  t2   tan tdt   tdt
I  1

4 t tan t 
1
2 t
2  lncos t  1

4 2x tan2x  2x
2  lncos2x  C

1248
 sin2x

ex dx

dx
ex  dv sin2x  u

ex  v 2sinxcosxdx  sin2xdx  du

I  ex sin2x   ex sin2xdx  ex sin2x  I1
I1   ex sin2xdx

sin2x  u dx
ex  dv

2cos2xdx  du ex  v

 ex sin2x  2  ex cos2xdx
I1  ex sin2x  2I2

cos2x  u dx
ex  dv

2sin2xdx  du ex  v

I2  ex cos2x  2  ex sin2xdx  ex cos2x  2I1
I1  ex sin2x  2ex cos2x  2I1 

 ex sin2x  2ex cos2x  4I1  ex sin2x2ex cos2x
5

I  ex sin2x  I1  ex sin2x  ex sin2x2ex cos2x
5  C

1249
 cos2lnxdx

cos2lnx  u dx  dv

2cos lnx sin lnx dxx  du x  v

I  xcos2lnx   x2cos lnx sin lnx dxx  xcos2lnx   x2cos lnx sin lnx dxx
I  xcos2lnx   sin2 lnxdx  xcos2lnx  I1

sin2 lnx  u dx  dv
2
x cos2 lnxdx  du x  v

I1   sin2 lnxdx  x sin2 lnx   x 2x cos2 lnxdx



I1  x sin2 lnx  2  cos2 lnxdx  x sin2 lnx  2I2
I2   cos2 lnxdx

cos2 lnx  u dv  dx

 2x sin2 lnxdx  du v  x

I2  xcos2 lnx   x 2x sin2 lnxdx  xcos2 lnx  2  sin2 lnxdx
I2  xcos2 lnx  2I1
I1  x sin2 lnx  2xcos2 lnx  2I1  x sin2 lnx  2xcos2 lnx  4I1
I1 

x sin2 lnx2xcos2 lnx
5

I  xcos2lnx  x sin2 lnx2xcos2 lnx
5  C

1250**
 x2

x212
dx

x  u xdx

x212
 dv

dx  du  1
21x2 

 v

  1
21x2 

x    1
21x2 

dx

  x
21x2 

 1
2 

1
1x2

dx   x
22x2

 1
2 arctanx  C

1251*
 dx

x2a2 2
 1

a2
 x2a2x2

x2a2 2
dx  1

a2
 dx
x2a2 

 1
a2
 x2

x2a2 2
dx

I  1
a3
arctan x

a  1
a2
 x2

x2a2 2
dx

x  at

dx  adt

I  1
a3
arctan x

a  1
a2
 a2t2

a2t2a2 2
adt  1

a3
arctan x

a  a  t2

a4t212
dt

I  1
a3
arctan x

a  1
a3
 t2

t212
dt

t

t212
dt  dv t  u

 1
21t2 

 v dt  du

I  1
a3
arctan x

a  1
a3
 1
21t2 

t   1
21t2 

dt  1
a3
arctan x

a  1
2a3

 t
1t2

  dt
1t2

I  1
a3
arctan x

a  1
2a3

 t
1t2

 arctan t

I  1
a3
arctan x

a  1
2a3

  xa 

1 xa 
2  arctan xa   C

1252**

 a2  x2 dx

x  a sin t
dx  acos tdt

  a2  a2 sin2t acos tdt

 a2  1  sin2t cos tdt  a2  cos2tdt   a22 1  cos2tdt
  a22 t 

a2

2  cos2tdt  
1
2 a

2t  1
4 a

2 sin2t 
 1

2 a
2 arcsin x

a  1
4 a

2 sin2arcsin x
a   C

1253*

 A  x2

x  A sinh t
dx  A cosh tdt

  A  A sinh2t A cosh tdt  A  1  sinh2t cosh tdt  A  cosh2tdt  A
2 cosh2t  1

 A
4 sinh2t 

A
2 t 

A
4 sinh2 arcsin

x
A

 A
2 arcsin x

A
 C

 A  x2   Ax2

Ax2

 Ax2

Ax2
 ax  b A  x2  c  dx

Ax2
| 

Ax2

Ax2
 a A  x2  2xaxb

2 Ax2
 c

Ax2
| A  x2

A  x2  aA  x2  xax  b  c
A  x2  aA  2ax2  xb  c
aA  c  A
2a  1

c  A  aA  A1  a  A
2

b  0,a  1
2 ,c 

A
2 

I   12 x A  x2  A
2 

dx

Ax2

I  1
2 x A  x

2  1
2 A ln x  A  x2  C

1254*

 x2

9x2
dx   9x29

9x2
dx   9  x2  9  dx

9x2
  9  x2  9arcsin x

3

 9x2

9x2
 ax  b 9  x2   c

9x2
dx| 

9x2

9x2
 a 9  x2  axbx

9x2
 c

9x2
| 9  x2

9  x2  a9  x2  ax  bx  c
9  x2  9a  2ax2  xb  c
9  x2  x22a  xb  c  9a
c  9a  9. . .c  9

2  9

a  1
2 , b  0 , c  9

2

I1  x
2 9  x2  9

2 
dx

9x2
 x

2 9  x2  9
2 arcsin

1
3 x

I  9arcsin x
3  I1  9arcsin

x
3 

x
2 9  x2  9

2 arcsin
x
3



I  9
2 arcsin

x
3 

x
2 9  x2  C

1255
 dx
x22x5

  dx
x22x14

  dx
x124

 1
2 arctan

x1
2  C

1256
 dx
x22x

  dx
x22x11

  dx
x121

 arctanhx  1  C

1257
 dx
3x2x1

 1
3 

dx
x2 13 x

1
3
 1

3 
dx

x 16
2 1

36 
1
3

 1
3 

dx

x 16
2
 1136

 2
11
arctan 6x1

11
 C

1258

 xdx
x27x13

  xdx

x 72
2 494 13

  x 72
x 72

2
 34
dx  7

2 
dx

x 72
2
 34

x  7
2  t

dx  dt

  t
t2 34

dt  7
2 

dx

x 72
2
 34

 1
2 ln4t

2  3  7
3 3 arctan 1

3 2x  7 3

 1
2 ln 4x 

7
2 

2  3  7
3
arctan 2x7

3


ln2  1
2 lnx

2  7x  13  7
3
arctan 2x7

3
 C

1259
 3x2
x24x3

dx   3x2
x2243

dx   3x2
x221

dx  3  xdx
x221

 2  dx
x221

 3  x22
x221

dx  2  dx
x221

 3  x2
x221

dx  6  dx
x221

 2  dx
x221

 3  x2
x221

dx  4  dx
x221

x  2  t
dx  dt

t2  1  z
2tdt  dz

 3  t
t21
dt  4  dt

t21
 3  t

t21
dt  4arctanh t  3

2 
dz
z  4arctanh t

 3
2 ln z  4arctanh t 

3
2 lnt

2  1  4arctanh t 
3
2 ln x  22  1  4arctanhx  2
 3

2 lnx  1 
3
2 lnx  3  4arctanhx  2

1260

 x12

x23x4
dx   x22x1

x23x4
dx   x23x42x13x4

x23x4
dx   x23x4

x23x4
dx   5x3

x23x4

 x  5
2 

2x 65
x23x4

 x  5
2 

2x 65 33

x 32
2 94 4

 x  5
2 

2x3 95
x 32

2
 74

 x  5
2 

2x3
x23x4

 9
2 

dx

x 32
2
 74

x2  3x  4  t x  3
2  z

2x  3dx  dt dx  dz

 x  5
2 

dt
t 

9
2 

dz
z2 74

 x  5
2 ln t 

9
7 7 arctan 2

7 z 7

 x  5
2 lnx

2  3x  4  9
7
arctan 2x3

7
 C

1261

 x2

x26x10
dx   x26x106x10

x26x10
dx   dx   6x10

x32910
dx  x  3  2x6

10
3 6

x321
dx

 x  3  2x6
x26x10

dx  8  dx
x321

x2  6x  10  t x  3  z
2x  6dx  dt dx  dz

 x  3  dtt  8  dz
z21

 x  3 ln t  8arctan z
 x  3 lnx2  6x  10  8arctanx  3  C

1262
 dx

33x2x2
 1

2
 dx

3
2 

3
2 xx

2
 1

2
 dx

33
16  x

3
4

2

x  3
4  t

dx  dt

 1
2
 dt

33
16 t

2
 1

2
arcsin 4t

33
 1

2
arcsin 4x3

33
 C

1263
 dx

xx2
  dx

1
4  x

1
2

2

x  1
2  t

dx  dt

  dt
1
4 t

2
 arcsin2t  arcsin2x  1  C

1264
 dx

x2pxq
  dx

x p2
2 p

2
4 q

  dx

x p2
2 p

2
4 q

  dx

x p2
2 p

24q
4

x  p
2   t

dx  dt
p24q
4  z

  dt

t2z
 ln t  t2  z  ln x  p

2  x  p
2 

2  p24q
4 

ln 1
2 p  x  x2  xp  q  C

1265
 3x6

x24x5
dx  3

2 
2x4
x24x5

dx

x2  4x  5  t
2x  4dx  dt



 3
2 

dt
t
 3 t  3 x2  4x  5  C

1266

 2x8
1xx2

dx   2x8

1 x 12
2
 14

dx  2  x4
5
4  x

1
2

2
dx  2  x 12 4

1
2

5
4  x

1
2

2
dx

 2  x 12
5
4  x

1
2

2
dx  9  dx

5
4  x

1
2

2

5
4  x 

1
2 

2  t x  1
2  z

2x  1
2 dx  dt dx  dz

  dt
t
 9  dz

5
4 z

2
  2 t  9arcsin 2

5 5 z   2 1  x  x2  9arcsin 2x1
5
 C

1267
 x

5x22x1
dx  1

10 
10x22
x2 25 x

1
5

dx  1
10 

10x2
5x22x1

dx  1
5 5
 dx

x 15
2 1

25 
1
5

5x2  2x  1  t x  1
5  z

10x  2dx  dt dx  dz

 1
10 

dt
t
 1

5 5
 dx

x 15
2 4

25

 1
10 2t

1
2  1

5 5
 dz

z2 4
25

 t
5  5

25 arcsinh
5
2 z 

5x22x1
5  5

25 arcsinh
5x1
2  C

1268
 dx

x 1x2

1  x2  t

1  x2  t2

xdx  tdt

 
tdt
x
xt   tdt

x2t
  dt

1t2
  arctanh t   arctanh 1  x2  C

1269
 dx

x x2x1

x  1
t

dx   dt
t2


 dt
t2

1
t

1
t2
 1t 1

   dtt
1
t2
 1t 1

   dtt
1tt2

t2

 
dt
t

1
t 1tt2

  dt

1tt2
  dt

1 t 12
2
 14



t  1
2  z

dt  dz

  dz
5
4 z

2
  arcsin 2

5
z   arcsin 2

5
t  1

2 

  arcsin 2
5
 1x  1

2    arcsin
2
5
 2x2x    arcsin

2x
x 5

 C

1270
 dx

x1 x22

x  1  t
dx  dt

  dt

t t122
  dt

t t22t1

t  1
z

dt   dz
z2

 
 dz
z2

1
z

1
z2
 2z 1

   dzz
12zz2

z2

  dz

12zz2
  dz

2z12
  arcsin z1

2

  arcsin
1
t 1

2
  arcsin

1
x1 1

2
  arcsin

1x1
x1

2
  arcsin

2x
x1

2

  arcsin 2x
2 x1

 C

1271
 dx

x1 x22x
  dx

x1 x121

x  1  t
dx  dt

  dt

t t21

t  1
z

dt   dz
z2

 
dz

z2

1
z  1z 

21
 

dz
z

 1z 
21

 
dz
z

1z2

z2

  dz

1z2
  arcsin z

  arcsin 1
t   arcsin 1

x1  C

1272

 x2  2x  5 dx   x2  2x  1  4 dx   x  12  4 dx

x  1  t
dx  dt

  t2  4 dt

t  2sinh z
dt  2cosh zdz

  4sinh2z  4 2cosh zdz  4  sinh2z  1 cosh zdz  4  cosh2zdz
 4  12 1  cosh2zdz  2 1  cosh2zdz  2  dz  2  cosh2zdz



2z  u
2dz  du

 2z   coshudu  2z  sinhu  2z  sinh2z
 2arcsinh t

2  sinh2arcsinh
t
2   2arcsinh

x1
2  sinh2arcsinh x1

2   C

1273

 x  x2 dx   1
4  x 

1
2 

2
dx

x  1
2  t

dx  dt

 1
4  t

2 dt  
1
4 t

2

1
4 t

2
dt


1
4 t

2

1
4 t

2
dt  at  b 1

4  t
2   c

1
4 t

2
dt| 

1
4 t

2

1
4 t

2
 a 1

4  t
2  2tatb

2 1
4 t

2
 c

1
4 t

2
| 1

4  t
2

1
4  t

2  a 14  t
2  tat  b  c

1
4  t

2  t22a  tb  c  1
4 a

a  1
2 ,b  0

.c  1
4 a 

1
4 . . . .c 

1
8  1

4
c  1

8

I  t
2

1
4  t

2  1
8 

dt
1
4 t

2
 1

4 t 1  4t
2  1

8 arcsin2t

 1
4 x 

1
2  1  4x  1

2 
2  1

8 arcsin2x 
1
2 

 1
4 2x  1 x  x2  1

8 arcsin2x  1  C

1274

 2  x  x2 dx   2  1
4 

1
4  x  x

2 dx   9
4  x 

1
2 

2

x  1
2  t

dx  dt

  9
4  t

2 dt  1
4 t 9  4t

2  9
8 arcsin

2
3 t

 1
4 x 

1
2  9  4x  1

2 
2  9

8 arcsin
2
3 x 

1
2 

 1
2 x 2  x

2  x  1
4 2  x2  x  9

8 arcsin
2
3 x 

1
3  C

1275
 xdx
x44x23

  xdx
x44x241

  xdx

x2221

x2  2  t
2xdx  dt

 1
2 

dt
t21

  1
2 arctanh t  

1
2 arctanhx

2  2  C

1276
 cosx
sin2x6sinx12

dx   cosx
sinx323

dx

sinx  3  t
cosxdx  dt

  dt
t23

 1
3
arctan t

3
 1

3
arctan sinx3

3
 C

1277
 ex

1exe2x
dx

ex  t

exdx  dt

  dt

1tt2
  dt

1 t 12
2 14

  dt

3
4  t 12

2
 arcsinh 2t1

3
 arcsinh 2ex1

3
 C

1278
 sinxdx

cos2x4cosx1
  sinx

cosx223
dx 

cosx  2  t
 sinxdx  dt

  dt

t23
  ln t  t2  3   ln cosx  2  cos2x  4cosx  1  C

1279
I   lnxdx

x 14 lnxln2x
  lnxdx

x lnx2241
  lnxdx

x 5lnx22

lnx  u
dx
x  du

I   udu

5u22

u  2  z
du  dz

  z2
5z2

dz   zdz

5z2
 2  dz

5z2

I1   zdz

5z2

5  z2  t
2zdz  dt

 
dt
2

t
  t   5  z2

I1   5  u  22   1  u2  4u   1  ln2x  4 lnx
I2   dz

5z2
 arcsin z

5
 arcsin u2

5
 arcsin lnx2

5

I  I1  2I2   1  ln2x  4 lnx  2arcsin lnx2
5

 C

1280
I   dx

xaxb



1
xaxb

 A
xa

 B
xb

1  Ax  b  Bx  a
1  Ax  Ab  Bx  Ba
1  xA  B  Ab  Ba
A  B  0
Ab  Ba  1
. . . .
Ba  Bb  1
Ba  b  1
B  1

ab ,A  1
ba

I  
1
ba

xa
 

1
ab

xb
 1

ba 
dx
xa 

1
ab 

dx
xb

I  1
ba lnx  a 

1
ab lnx  b  C

1281
I   x25x9

x25x6
dx   dx  3  dx

x25x6
 x  3  dx

x2x3
1

x2x3  a
x2 

b
x3 |x  2x  3

1  ax  3  bx  2  ax  3a  bx  2b  xa  b  3a  2b
a  b  0. . .a  b
3a  2b  1
3b  2b  1
b  1,a  1
I  x   1x2  

1
x3  x  3 lnx  2  3 lnx  3  C

1282
 dx
x1x2x3  1

12 
dx
x1 

1
3 

dx
x2 

1
4 

dx
x3

 1
12 lnx  1 

1
3 lnx  2 

1
4 lnx  3

1
x1x2x3  a

x1 
b

x2 
c

x3 |x  1x  2x  3
1  ax  2x  3  bx  1x  3  cx  1x  2
1  ax2  5ax  6a  bx2  2bx  3b  cx2  cx  2c
1  x2a  b  c  x5a  2b  c  6a  3b  2c
a  b  c  0
5a  2b  c  0
6a  3b  2c  1
b   13 ,a 

1
12 ,c 

1
4

1283
 2x241x91
x1x3x4 dx
2x241x91

x1x3x4  a
x1 

b
x3 

c
x4 |x  1x  3x  4

2x2  41x  91  ax  3x  4  bx  1x  4  cx  1x  3
2x2  41x  91  ax2  ax  12a  bx2  5bx  4b  cx2  2cx  3c
2x2  41x  91  x2a  b  c  xa  5b  2c  12a  4b  3c
2  a  b  c

41  a  5b  2c
91  12a  4b  3c

43  4b  3c c  43
3  4

3 b

12a  4b  3 43
3  4

3 b   12a  43  91
4  b  43

3  4
3 b 

55
3  7

3 b  2
2  4  7  c   3  c
b  7,c  5,a  4
I  4  dx

x1  7 
dx
x3  5 

dx
x4  4 lnx  1  7 lnx  3  5 lnx  4  C

1284

 5x32
x35x24x

dx   5x32
xx25x4

dx   5x32
xx1x4 dx  5 

x3 25
xx1x4 dx

 5  x
35x24x 25 5x

24x
xx1x4 dx  5  dx   25x220x2

xx1x4
25x220x2
xx1x4  a

x  b
x1 

c
x4 |xx  1x  4

25x2  20x  2  ax2  5x  4  bxx  4  cxx  1
25x2  20x  2  ax2  5ax  4a  bx2  4bx  cx2  cx
25x2  20x  2  x2a  b  c  x5a  4b  c  4a
25  a  b  c
20  5a  4b  c
2  4a
a  1

2 
4a  3b  4 12   3b   2  3b  5
b   73
1
2 

7
3  c  25

c  161
6

I1  1
2 

dx
x  7

3 
dx
x1 

161
6 

dx
x4  1

2 lnx 
7
3 lnx  1 

161
6 lnx  4

I  5x  I1  5x  1
2 lnx 

7
3 lnx  1 

161
6 lnx  4  C
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 dx
xx12

x  1
t

dx   dt
t2


 dt
t2

1
t 

1
t 1

2   dt

t 1tt 2
  t

1t2
dt   t11

1t2
dt

  dt
1t  

dt
1t2

  ln1  t  1
1t   ln

x1
x   x

x1  C
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 x31
4x3x

dx  1
4 

4x34
4x3x

dx  1
4 

4x3xx4
4x3x

dx  1
4  dx 

1
4 

x4
4x3x

dx

 x
4 

1
4 

x4
x4x21

dx  x
4 

1
4 

x4
x2x12x1 dx

x4
x2x12x1  a

x  b
2x1 

c
2x1 |x2x  12x  1



x  4  a2x  12x  1  bx2x  1  cx2x  1
x  4  4ax2  a  2bx2  bx  2cx2  cx
x  4  x24a  2b  2c  xb  c  a
a  4
4a  2b  2c  0
b  c  1
16  21  c  2c  0
c   92 
b  1  c  1  9

2   7
2

I   4x dx  
 72

2x1 dx  
 92

2x1 dx  4 lnx 
7
4 ln2x  1 

9
4 ln2x  1  C
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I   x46x312x26

x36x212x8
dx   x46x312x26

x23
dx

x4  6x3  12x2  6 : x3  6x2  12x  8  x  68x
x36x212x8

x4  6x3  12x2  8x
6  8x
I   xdx  2  4x3

x23
dx  x2

2  2  4x838
x23

dx  x2

2  8  x2
x23

dx  22  dx
x23

 x2

2  8  dx
x22

 22  dx
x23

 x2

2 
8
x2 

11
x22

 C
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I   5x26x9

x32x12
dx

I   5x26x9
x22x32

dx  axb
x22x3

  cxd
x22x3

dx| 

5x26x9
x22x32

 axb
x22x3


 cxd

x22x3

5x26x9
x22x32


ax22x32x2axb

x22x32
 cxd

x22x3
|x2  2x  32

5x2  6x  9  ax2  2x  3  2x  2ax  b  cx  dx2  2x  3
5x2  6x  9   ax2  3a  2xb  2b  cx3  2cx2  3cx  dx2  2dx  3d
5x2  6x  9  x3c  x2a  2c  d  x2b  3c  2d  3a  2b  3d
c  0
a  2c  d  5  d  a. . .d  5  a
2b  3c  2d  6  2d  2b
9  3a  2b  3d

15  2d  2b  3a  2b  3d   5d  3a
55  a  3a   8a  25  15
a  5,d  0
6  2b. . .b  3
I   5x26x9

x22x32
dx  5x3

x22x3
  0

x22x3
dx  5x3

x22x3
 C
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 x28x7
x23x102

dx   x28x7
x22x52

dx

x28x7
x22x52

 a
x2 

b
x22

 c
x5 

d
x52

|x  22x  52

x2  8x  7  ax3  8ax2  5ax  50a  bx2  10bx  25b  cx3  cx2  16cx  20c  dx2
x2  8x  7  x3a  c  x28a  b  c  d  x5a  10b  16c  4d  50a  25b  20c
a  c  0
8a  b  c  d  1
5a  10b  16c  4d  8
50a  25b  20c  4d  7
a   30

343 ,c 
30
343 ,b 

27
49 ,d  

8
49

I   
30
343 dx

x2  
27
49 dx

x22
 

30
343 dx

x5   
8
49 dx

x52
  27

49x2 
30
343 lnx  2 

8
49x5 

30
343 ln

1290
 2x3
x23x23

dx

x2  3x  2  t
2x  3dx  dt

  dt
t3
  1

2t2
  1

2x23x22
 C

1291
 x3x1
xx21

dx   x3x1
x3x

dx   dx   dx
xx21

1
xx21

 a
x  bxc

x21
|xx2  1

1  ax2  a  bx2  cx
a  b  0
c  0a  1b  1
I1   dxx   x

x21
dx  lnx  1

2 lnx
2  1

I  x  I1  x  lnx  1
2 lnx

2  1  C

1292
 x4

x41
dx   x411

x41
dx   dx  x   dx

x41
 x  I1

1
x21x21

 axb
x21

 cxd
x21

|x2  1x2  1

1  ax3  ax  bx2  b  cx3  cx  dx2  d
1  x3a  c  x2b  d  xa  c  b  d
a  c  0 a  c
b  d  0 b  d
a  c  0  2c  0 c  0a  0
b  d  1  2d  1 d   12 b 

1
2 

I1  
1
2

x21
dx   

1
2

x21
dx   1

2 arctanhx 
1
2 arctanx

I  x  1
2 arctanhx 

1
2 arctanx  C
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 dx
x24x3x24x5

  dx
x3x1x24x5



x12 
4 1612

2
x1  42

2  3
x2  42

2  1
1

x3x1x24x5
 a

x3 
b
x1 

cxd
x24x5

|x  3x  1x2  4x  5

1  ax3  3ax2  ax  5a  bx3  bx2  7bx  15b  cx3  4cx2  3cx  dx2  4dx  3d
1  x3a  b  c  x23a  b  4c  d  xa  7b  3c  4d  5a  15b  3d

1 1 1 0 0
3 1 4 1 0
1 7 3 4 0
5 15 0 3 1

3 1 5








1 1 1 0 0
0 2 7 1 0
0 8 2 4 0
0 10 5 3 1

: 4
: 5



1 1 1 0 0
0 2 7 1 0
0 2 1

2 1 0

0 2 1  35  15



1 1 1 0 0
0 2 7 1 0
0 2 1

2 1 0

0 0  12 1  3
5  15



1 1 1 0 0
0 2 7 1 0
0 2 1

2 1 0

0 0  12  85  15



1 1 1 0 0
0 2 7 1 0
0 2  12 1 0

0 0  12  85  15



1 1 1 0 0
0 2 7 1 0
0 0 7  1

2 2 0

0 0  12  85  15



1 1 1 0 0
0 2 7 1 0
0 0  152 2 0

0 0  12  85  15 15



1 1 1 0 0
0 2 7 1 0
0 0  152 2 0

0 0 15
2

815
5 3



1 1 1 0 0
0 2 7 1 0
0 0  152 2 0

0 0 15
2 24 3



1 1 1 0 0
0 2 7 1 0
0 0  152 2 0

0 0 0 26 3
d  3

26 ,b  
1
20 ,a 

1
52 ,c 

2
65

I  1
52 

dx
x3 

1
20 

dx
x1  

2
65 x

3
26

x24x5
dx

I  1
52 lnx  3 

1
20 lnx  1 

1
65 

2x 3
26 65

x24x5
dx

I  1
52 lnx  3 

1
20 lnx  1 

1
65 

2x 152
x24x5

dx

I1  1
65 

2x4 72
x24x5

 1
65 

2x4
x24x5

 7
2

1
65 

dx
x24x5

x2  4x  5  t
2x  4dx  dt

x  2  z
dx  dz

I1  1
65 

dt
t 

7
2

1
65 

dx
x221

 1
65 ln t 

7
130 

dz
z21

I1  1
65 ln t 

7
130 arctan z 

1
65 lnx

2  4x  5  7
130 arctanx  2

I  1
52 lnx  3 

1
20 lnx  1 

1
65 lnx

2  4x  5  7
130 arctanx  2  C

1294
 dx
x31

  dx
x1x2x1

1
x1x2x1

 a
x1 

bxc
x2x1

|x  1x2  x  1

1  ax2  bx2  ax  bx  cx  c  a
1  x2a  b  xa  b  c  c  a
a  b  0
a  b  c  0
c  a  1

1 1 0 0
1 1 1 0
1 0 1 1



1 1 0 0
0 2 1 0
0 1 2 1 2



1 1 0 0
0 2 1 0
0 2 4 2



1 1 0 0
0 2 1 0
0 0 3 2

b   13 ,c 
2
3 ,a 

1
3

I  
1
3
x1 dx  

 13 x
2
3

x2x1
dx  1

3 lnx  1 
1
3 

x2
x2x1

I  1
3 lnx  1 

1
6 

2x4
x2x1

I  1
3 lnx  1 

1
6 

2x1
x2x1

 1
2 

dx
x2x1

I  1
3 lnx  1 

1
6 lnx

2  x  1  1
2 

dx

x 12
2 14 1

I  1
3 lnx  1 

1
6 lnx

2  x  1  1
2 

dx

x 12
2
 34

I  1
3 lnx  1 

1
6 lnx

2  x  1  3
3 arctan

2x1
3
 C
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 dx
x41

  dx

x2122x211
  dx

x2122x2
  dx

x2 2 x1 x2 2 x1
1

x2 2 x1 x2 2 x1
 axb

x2 2 x1
 cxd

x2 2 x1

1  ax  b x2  2 x  1  cx  d x2  2 x  1
1  ax3  ax  a 2 x2  bx2  b  b 2 x  cx3  cx  c 2 x2  dx2  d  d 2 x



1  x3a  c  x2 a 2  b  c 2  d  x a  b 2  c  d 2  b  d
a  c  0
a 2  b  c 2  d  0
a  b 2  c  d 2  0
b  d  1

1 0 1 0 0
2 1  2 1 0
1 2 1  2 0
0 1 0 1 1

:  2
1

~

1 0 1 0 0

1  2
2 1  2

2 0

1  2 1 2 0
0 1 0 1 1

~

1 0 1 0 0

0  2
2 2  2

2 0

0  2 0 2 0
0 1 0 1 1

 2
2

: 2
1

~

1 0 1 0 0
0 1  4

2
1 0

0 1 0 1 0
0 1 0 1 1

~

1 0 1 0 0
0 1  4

2
1 0

0 0  4
2
2 0

0 0  4
2
0 1

~

1 0 1 0 0
0 1  4

2
1 0

0 0  4
2
2 0

0 0 0 2 1

d  1
2 ,c 

2
4 ,b 

1
2 ,a  

2
4

I    2
4 x

1
2

x2 2 x1
 

2
4 x

1
2

x2 2 x1
 1

4 
 2 x2
x2 2 x1

 1
4 

2 x2
x2 2 x1

I   2
4 

x 2
x2 2 x1

 2
4 

x 2
x2 2 x1

  2
8 

2x2 2
x2 2 x1

 2
8 

2x2 2
x2 2 x1

I   2
8 

2x 2  2
x2 2 x1

 2
8 

2x 2  2
x2 2 x1

x2  2 x  1  t
2x  2 dx  dt

x2  2 x  1  z
2x  2 dx  dz

I   2
8 

dt
t 

2
8 

dz
z   2

8 
 2

x2 2 x1
 2

8 
 2

x2 2 x1

I   18 2 ln t  1
8 2 ln z  2

8 
dx

x2 2 x1
 2

8 
dx

x2 2 x1

I   18 2 ln t  1
8 2 ln z  1

4 
dx

x 2
2

2
 12 1

 1
4  

dx

x 2
2

2
 12 1

I   2
8 ln t 

2
8 ln z 

2
4 arctan  2 x  1  2

4 arctan 2 x  1

I   2
8 ln x

2  2 x  1  2
8 ln x

2  2 x  1  2
4 arctan  2 x  1  2

4 arctan
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 dx
x4x21

  x21
x4x21x21

dx   x21
x61

dx   x21
x31x31

dx

x21
x31x31

 ax2bxc
x31

 dx2exf

x31
|x3  1x3  1

x2  1  ax2  bx  cx3  1  dx2  ex  fx3  1
x2  1  ax5  ax2  bx4  bx  cx3  c  dx5  dx2  ex4  ex  fx3  f
x2  1  x5a  d  x4b  e  x3c  f  x2a  d  xb  e  c  f
a  d  0
b  e  0
c  f  0
a  d  1
b  e  0
c  f  1
1 0 0 1 0 0 0
0 1 0 0 1 0 0
0 0 1 0 0 1 0
1 0 0 1 0 0 1
0 1 0 0 1 0 0
0 0 1 0 0 1 1

 gauss 

1 0 0 1 0 0 0
0 1 0 0 1 0 0
0 0 1 0 0 1 0
0 0 0 2 0 0 1
0 0 0 0 2 0 0
0 0 0 0 0 2 1

f  1
2 e  0 d   12 

c  1
2  0 c   12  b  0

a  1
2  0 a  1

2 

I  
1
2 x
2 12
x31

  
1
2 x
2 12

x31
 1

2 
x21
x31

 1
2 

x21
x31

 1
2 

x21
x1x2x1

dx  1
2 

x21
x1x2x1

dx

I  1
2 

x1
x2x1

dx  1
2 

x21
x31

dx   2x11
x2x1

dx  1
2 

x1x1
x1x2x1

dx

I   2x1
x2x1

dx   dx
x2x1

  2x11
x2x1

dx

I   dtt   dx

x 12
2 14 1

  2x1
x2x1

dx   dx
x2x1

I  ln t   dx

x 12
2
 34
  dzz   dx

x 12
2 14 1

I  lnx2  x  1  2 3
3 arctan 2x1 3

3  ln z   dx

x 12
2
 34

I  lnx2  x  1  2 3
3 arctan 2x1 3

3  lnx2  x  1  2 3
3 arctan 2x1 3

3

I  ln x2x1
x2x1

 2 3
3 arctan 2x1

3
 2 3

3 arctan 2x1
3
 C

?????????
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 dx

1x2 2

x  tan t
dx  1  tan2tdt

  1tan2tdt

1tan2t2
  dt

1tan2t
  dt

1 sin2t
cos2t

  dt
cos2tsin2t
cos2t

  cos2tdt
cos2tsin2t

  cos2tdt1   cos2tdt

  12 1  cos2t 
1
2  dt 

1
2  cos2tdt 

1
2 t 

1
4 sin2t 

1
2 arctanx 

1
4 sin2arctanx
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I   3x5

x22x2
dx   3x5

x121
dx  3  x

x121
dx  5  dx

x121
 3  x

x121
dx 

I  3  x11
x121

dx  5arctanx  1  3  x1
x121

dx  3  dx
x121

 5arctanx  1

I  3  x1
x121

dx  3arctanx  1  5arctanx  1  3  x1
x121

dx  2arctanx  1

I1 
x  1  t
dx  dt

 3  t
t21
dt 

t2  1  u
2tdt  du

 3  du2u  3
2 lnu 

3
2 lnt

2  1
I1  3

2 ln x  12  1  C
I  3

2 ln x  12  1  2arctanx  1  C
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 dx

x1x2x12

       
1

x1x2x12
 a

x1 
bxc

x2x12
 dxe

x2x1
|x  1x2  x  12

1  ax2  x  12  bx  cx  1  dx  ex  1x2  x  1
1  ax4  2ax3  3ax2  2ax  a  bx2  bx  cx  c  dx4  2dx3  2dx2  dx  ex3  2e

x2  2ex  e
1  x4a  d  x32a  e  2d  x23a  b  2d  2e  x2a  b  c  d  2e  a  c 
a  d  0
2a  e  2d  0
3a  b  2d  2e  0
2a  b  c  d  2e  0
a  c  e  1
1 0 0 1 0 0
2 0 0 2 1 0
3 1 0 2 2 0
2 1 1 1 2 0
1 0 1 0 1 1


Gaussova

eliminacija


1 0 0 1 0 0
0 1 0 1 2 0
0 0 1 0 0 0
0 0 0 1 1 1
0 0 0 0 1 0

e  0d  1c  0
b  d  2e  0
b  1  0
b  1a  1
         
 dx

x1x2x12
  dx

x1  
xdx

x2x12
  xdx

x2x1

 lnx  1   dx
x2x1

  dx

x2x12

 lnx  1   dx
x2x1 14 

1
4
  dx

x2x12

I  lnx  1  I1  I2

I1   dx
x2x1 14 

1
4
  dx

x 12
2
 34



I1 
x  1

2  t

dx  dt


I1   dt
t2 34

 2
3
arctan 2

3
t  2

3
arctan 2

3
x  1

2   2
3
arctan 2x1

3

I2   dx

x2x12
  dx

x 12
2
 34

2

I2 
x  1

2  t

dx  dt

I2   dt

t2 34
2

I2 
u  1

t2 34
2 dt  dv

 256t
4t233

dt  du t  v

I2  t

t2 34
2    256t2

4t233
dt  t

t2 34
2  64  4t233

4t233
dt

I2  t

t2 34
2  64  dt

4t232
 3  dt

t2 34
3  t

t2 34
2   dt

t2 34
2  3  dt

t2 34
3

I2  t

t2 34
2  I2  3  dt

t2 34
3 . . . . odusta san


